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WEST BENGAL STATE UNIVERSITY
B.A. Honours 4th Semester Examination, 2022

HISACORO09T-HISTORY (CC9)
HISTORY OF INDIA (1526 CE-1757 CE)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

GROUP-A / eie-=

Answer any fwo questions from Group-A 5x2 =10
Each answer has to be written within 250 words approximately

e-% AtF -t 76 2eiE Ted wie
2ifet e Ter Sl L ¢o *IT3rd e A A

1. Discuss the significance of the First Battle of Panipat.
A1 22T oz Sl S IR

2. Analyse the role of ‘Sulh-i-Kul’ in Akbar’s religious policy.
SRR LA ST Ie12-3-Fo7- 7 Bt Resel T |

3. How did the Zabti system of revenue assessment differ from Nasaq?
G ICVRCTI (GG TS 22 FIOIR 78 (AT 72 e 9

4. Explain the meanings of the terms ‘Chauth’, ‘Sardeshmukhi’ and ‘Saranjami’.

‘B, FROHAY @ SR el sl e FEh

5. Why did Siraj-ud-daulah invade Calcutta in 1756?
Y4¢Y R PRIG-BR-(eT (e FeTI! SESe SR 2

GROUP-B / fTeia-2

Answer any fwo questions from Group-B 8x2 =16
Each answer has to be written within 400 words approximately

onl-4 A @-@IE 76 2tie Ted wie
2ifof etsd Tea ST 8oo =Tard ST A AP

6. Assess Abul Fazal as a historian.

aFere @ferfre Be D[eT p&rCeid ATl Pl
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7. Evaluate the Rajput policy of Akbar.
QIR AES A0 FeT T FCA |

8. Critically evaluate the Deccan policy of Aurangzeb.
BFHCTIA VIBFoNS] N FAENGAETS Jeie I |

9. Discuss the nature of the growth of foreign trade in the Mughal period.
R SIS0 (AR Aiferey Jiar 2phe el Fe)

10. Comment on the policy of ‘Hindu Pad Padshahi’ propounded by Baji Rao 1.
21w 1 N8 @SS Z Am A Mfoq Tor st et

GROUP-C / eio-4t

Answer any two questions from Group-C 12x2 =24
Each answer has to be written within 600 words approximately
fTonl-at (At @-FIT 715 &AteiE Ted wis
2ifsfb et Tea wmifeF woo *Tara Wy A AT

11. Examine the salient features of Sher Shah’s administration. Was he the forerunner of
Akbar in terms of administration?

CIRHICRR 2= EIR 24 RREIe e D @l e=#F CFa eIt F| NFAEE
7 T 0

12.  Discuss the characteristics of the Mansabdari system during Akbar’s reign. What
were the changes brought about by Jahangir, Shah Jahan and Aurangzeb?

HFAEE AR APRWE JBR @FEet Siema @ Rk, M| €
ST I JIZIT CFCq ) ) ARTS o ACeIBeee 9

13.  Identify the chief features of the Mughal land revenue system.
T4 iR IR &4 (afigyefer fbfzse e

14. Critically analyse the character of peasant rebellions during the Mughal period.
LT SISCe] I [RTICRS BRG AAMCEGINET [esel S |

15. Do you agree with the view that the eighteenth century was a dark age in Indian
History?

i & 12 ISR A0 72T (@, STV *ol] o] ©Rred 20201 S iaives o 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same
answer script.
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Time Allotted: 2 Hours
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WEST BENGAL STATE UNIVERSITY
B.A. Honours 4th Semester Examination, 2022

HISACOROST-HISTORY (CCS8)

RISE OF THE MODERN WEST

Full Marks: 50

The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT M
and adhere to the word limit as practicable. s R

4019

GROUP-A / Teis-=

Answer any fwo questions from the following
Each answer has to be written within 250 words approximately

Tmferide @ @I 75 etaw Tea wie | &fsb et Ted 2 ¢o *Itwa S Al AT

Were the Levellers really democratic?

el & g2 aerifass e ¢

What is meant by ‘Proto Industrialization’?

“wifn frsTe’ IET0e Q@RI 9

What do you mean by the ‘Copernican Revolution’?
‘@i JeR Fw@0e 1 @IEH ?

Discuss Kepler’s contribution to modern science.
Nfer [REaIC (TR S SN B |

Who was Gerrard Winstanley?
PN LN o [
CErI© L2 VDII[ET (F [R(ET ¢

GROUP-B / fTeia-2

Answer any fwo questions from the following
Each answer has to be written within 400 words approximately

Tmferide @ @It 716 etas Tea wie | &fsfb etsia Ted 8oo *tara ray A4 Ay

What factors led to the decline of the Spanish Empire?
I I RAER & IR AT 7o IR 9

5%x2 =10
8x2 =16
Turn Over
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7.

10.

11.

12.

13.

14.

15.

4019

Discuss the role of Puritanism in English Revolution.
RS R RO TeIa ke Scasa S|

Analyze the factors which set the stage of Mercantilism.
S5 13fTETTE 7 Save zene Ranefm sefieiea st

How far was Locke a radical thinker?
7 T S ARSI fHeifm e o

Discuss the importance of the Commercial Revolution as a pre condition for
industrialization.

Rz =19 At alie = iR Afdey Reaitea S Sticarsa sat

GROUP-C / eia-4t

Answer any fwo questions from the following
Each answer has to be written within 600 words approximately

Tmferide @ @It 71 etas Tea wie | &fsfb etsim Ted voo *twa st Al AT

Do you think that the 17" century witnessed crisis in economic, social and
political dimensions?

¥ & T 0 @ Yt * T GRS, AT @R SRS HRIGS T AT T 9

How did the British and the French replace the Spanish from the leading
commercial powers in the 17" century Europe?

FeIE Agw o JvH vz T 2R guw Afte *Ife IR o s Q@
e frce e zfes ¢

How ‘Revolutionary’ was the ‘Scientific Revolution’?

‘merifes G2 Foo! el fee o

Discuss the condition of the French monarchy on the eve of the French
Revolution.

TR [RART AR TN ATOCE ORE Ao FE |

What were the economic conditions of Europe before the Industrial Revolution?

e i TR welaies o i faet 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

12x2 =24



